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Directions Q.1-4- Choose the correct antonym, out of the four given choices, of the given word:-

L.

4,

Canay :-

A) foolish B) permanent C) legal D) rude
Execrable :- o o BN .

A) weak B) admirable C) adamant D) cruel
Greenhorn ;- R T

A) flatterer - B) stainless - C) veteran D) undue
Nareissism-- | :ﬁ AR T
A) cleverness B) arrogance C) cunning ) modesty

Directions Q.No. 5-7 :- Mark, out of the four ehowes the couect meanmg of the 1tallc1zed
idioms/phrases used in the following sentences :- : - : :

5.

Sumedha appears to be in a brown study. -
A)in areverie  B) quite pessmlst;e C) fond of readmg D) fond of readmg phliosophy

' You should not bow down in a house of Rinmon.

A) hurtothers = =+ B) sacrifice your p:mo]ples for the sake of conformtty

C) criticize others D) be indifferent to others.

E -_';'Ramesh advised us to go for thejugular o Sl
) be calm . B) be smart . 0 be aggresswe “:::D) be active -

' Du'ect:ons Q No.8- 10 - Choose the correct pleposmon out of the four glven chouces to be_
-ﬂlled in the gaps of the following sentences -

10,
L
12

: 13.

g

" The novelist has alluded ~the Fnst World War mthls novel SR
‘A) from B)of ;’ C)w1th SR Do

. -Harry abstained non-vegetauan food R - T PR G

' A)ﬁom SR B)by o C)off o Dyon

" There seems to b_e no respite ___ the soaung mﬂatton _ Comh

- A)out B B)_ﬁo_m R _C) for DR -'D)_a_b__ou_t S
. The metal used_in'stoiage batteries is S A T
_A)iron B) copper . . C) lead fD) tin

-~ Which of the followmg is essentlal for blood clottmg‘? -.ﬁ R R e
A) RBC L B) WBC .- o C) Blood platelets .-[_)) Lymph

" Thermos flask keeps a llqu1d hot because - = L
~“A) It has double walls. : R

- B) It has silver coated wa]ls R

17.

_ ““'C) Air between the double walls 1s1emoved : -
.. .D) Heat loses by conduction and tadiatlon are largely pl evented
14, ::_Laparoscopy is connected w:th e R R :jﬁ '. gt

oo U A)radars o o B) Sc1enceoft:ssues e T
R C) study of laser beams D) gynaecolog:cal operatlon o (R
15 ~ Which of the follow_mg vntamms is consndered to be_ahormone? Sl
COMA BB oc o D)D
“A)Humayun -~ - B)Akbar . 0) Jahangir D) Shah Jahan
" 'The first Europeans to come to India were :'; R i o AL
A)British - - - B)Dugch .0 C) Ftenoh . _'3 : D) Portuguese e

- The last Governor Gene:al of Indiawas .~ ' RN

: A) Lord Dalhousxe B) Lmd Mountbatten C) C Rajagopa!achau D) Lord Cannmg

Sikh Guru Arjun Dev was killed durmg the reign of
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19,

20.
21,

22.
o n.
24,

o2

2.
L8

30,

31,

Who among the following was called as ‘Father of Indian Renaissance’?

A) B.G. Tilak B) Gopal Krishna Gokhale
C) Lala Lajpat Rai D) Raja Ram Mohan Roy :
The design of the National Flag was adopted by the Constrtuent Assembly of lndla in .
A) July, 1948 B) July, 1950 O July, 1947 D) August 1950 o
The Period of Twelveth Five Year Plan is :
A)2007-2012 -B)2012-2017 - = C)2009-2014 . - D) 2010-2015 _

~ In India, The Black Revolutron is associated with self dependence in the p:oduetlon of
A) mustard seeds oo B)erude petroleum o ' : SRR

C) black box R D) coffee e
Capltal galns tax is apart of TR i

"A)WealthTax S B B)GiﬁTax A

S C)Estate Tax o0 s D) Income Tax -

- Special Drawmg Rrghts (SDRs) relate to i : G
-A)the World Bank - = -~ B)the Reserve Bank of Ind1a GER
'C) the World Trade Organrzatlon - D) the Internatlonal Monetar y Fund

Tn which of the following erty indra 'S ﬁrst all-women bank, Bharatlya Mahlla Bank was S
inaugurated ‘by the Prime. Mmlstei Dl Manmohan Smgh and Mrs Son1a Gandkn on_ . s

November 19, 2013‘7

A) Delhr B') Gurgaon : C) Bangalore D) Mumbal

South Afrlca s fnst black Presrdent and antr apartherd icon Nelson Mandela d}ed at the

5 age of 95 on December 5 2013 Whrch of the followmg dates has been ﬂxed as Mandelg o | 8

o Day? oo St .
O A) July 17 o B) July 16 T C) Ju]y 19 o D) July 18 _ :
o .'Whlch of the followmg is the theme of International Day for Preservatlon of the Ozone L
CLayer2013 0 Do

A)Save Earth =~ . O S DERS B)Ozone Lets Save It R

- A Healthy Atmosphere, The Future We Want D) Ozone Safety Future Safety

Which of the followmg days is deelared as ‘Internatlonal Day of Sports f01 Development
. and Peace’ by United Natrons in Aogust, 2013?.© - L
‘A) July 12 L B) February 6 C) Aprrl 6 D) June 23

R _'A) Bangalore G B) New Delhl = C) Hyderabad e D) Jammu :
: Whaeh of the followmg Movres was grven the 2014 Oscar Academy Award m the Best

~Picture Category: '~~~ = . i
A) 12 Years a Slave B) Dallas Buyers Club _:_ C) Blue Jasmme o D) Grav1ty

101th lndlan Science Congress was held at ;

‘Metal’ is related to ‘Conductlon in the same way as ‘Plastre 1s related to

A) Petrochemlcals B Industries 0O lnﬂammatron D) Insulatldn it s

“Select the m1ssmg (‘?) word from glven altelnatrves on the basrs of the relat1onslup i
~between the words given on the leﬁ/nght hand srde of the srgn

-Hill : Mountain :: 2:Pain o g ERE S
" A)Distress . B)Discomfort - C) Headache 3_ D) Fear S
' Drrectrons Q.No.33 & 34: Thlee of the followmg pairs are alike ina certaln way and hence '. SRR

- form a group. Which one does not belong io the group? -

33,
34,

A)DONE : NOED - B) WANT : NATW - C) wrrH TIHW D) HAVE : AVEH =

NS BT 0T D)2931
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35, If TEMPLE is coded as VHQURL, how would you code CHURCH?
A) EKYWIO B) EKUWIO C) EKYWIN D) EKYWJO

36.  ‘baw haw daw kaw’ means ‘Poachers killed some tigers’, ‘vaw gaw jaw haw means
“Ti 1ge:s are brave creatures’, ‘kaw taw maw vaw’ means ‘some watchman were brave’
and ‘maw jaw naw baw’ means ‘watchman are sealchmg poachers Then what does
‘kaw baw’ means? _ :

A) some watehman B) brave tigers C) some poachers D) kliied tlgers

Directions Q.No. 37 to 39: Read the pattern of words/numbers and ﬁnd the mlssmg term from

the given alternatives:
37. __.QAM SEQ, ?, WOS YUV

38. 824, 615, 406, 2 IS ST
S A)756 B)732 . O34 -D)736

39, 2,9 3, 6,5 12, 7,20, 11 oo

' AL B2 04 'gﬁ-jjm3_

. ::_. 40. A schooi bus goes 3 kin north from the sehoo! and tums left. It goes 5 km further, takesa
: ~ left turn and travels 8 km. It takes a left turn ‘from there and goes 5 km further, Fmally, it
takes a left turn and goes 2 km. How much shouid the school bus travel and in which

- direction in otder to reach the school? = = E
A 3km South B) 3 km North C) 5 km West i D) 5 km North

41, _-_'-‘A X B’ means that A is the sister of B, ‘A + B’ means that As the daughter of B
- *A =B’ means that A is the son of B, On the basis of this mformatron how is P reEated to

. Sinthe relatlo_nsher QxR 870 o : AR

- A) Brother .. B) Son Ll C) Cousrn S D) Daughter sson R

' '_42. _-_' -ZPomtmg toa lady it the photograph “Seema said, “her son s father is the son- m—Iaw of
- my mother”. How is Seema related to that lady’? R R S L

_ - A) Sister - B) Mother s C) Cousin . - D) Aunt

43, In the foilowmg series, some letters a:e mlssmg whleh are gwen in that order as one of
the alternatives below it. Choose the coueet aiternat;ve [ SRR : :

~ . n-qn-nqt—tqqtn —n-tqt : B R R

A)nnglg - 0 B) qtnqt ' C) ttngn D) qqmt | g

i :Dlrectlons for QNo. 44t046; Read the followmg mformatlon to answer the quesuons based on 1t SR

| Seven letters are auanged ina ine as follows:
. 2(i) E and I have one letter between them (i) Gis to the ught of A, -
" (iii) B is to the immediate left of F. -~ (iv) There is one letter between D and A

S "__;.__(v)D is not G’s ne:ghbour i i (vr) G and F have two letters between them' '
.44, Which letter is seeond fo the leﬂ ofletterA'? U e
oA C o B)B - C)D A D)E

45. - Which letter wrli be exactly in the mrddle of the letter series so obtamed‘? |

- A)D B)A i OE D)None ofthese i _' :

46. _. '."Whrch pa:r ofthe lettersls adjacent to the letter B‘? s : R
. A)Aand C - B)GandE - C)EandF __.-'-"-D)C_andA_. R
47. - _:IIow many tuangles are there in the glven ﬁgure‘7 ' SRS RD SIS AN EE

w2 mu OB D6
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48.

A person was asked to state his age in years, His reply was, ‘Take my age three years
hence multiply it by 3 and then subtract three times my age three years ago and you will
know how old 1 am.” What was the age of the person?

C A)18yewr  B)20year .~ C)24year D)32year
9.

The six faces of a cube are coloured black brown green red whlte and blue in the
following ways:

~ - (i) Red is opposite to black. (ii) Btown is adjacent to blue. (m) Biue is adJacent to white
~(iv) Red is at the bottom surface. ~(v) Green is between red and black

. Which colour is opposite to the Brown colour"

50,

5,

53,

- | 54-..

93,

‘A)White ~~  B)Red . C)Green : | D) Blue
‘A result of .a survey of 1000 persons w1th tespect to thetr knowiedge of Hlﬂdi (H)
k _Enghsh (E) and Sanskmt (S) is gwen below: R, o

Find the number of pets'o'ns' \'v'ho' know at most't\:v'o ]anguages; HU AT
o A 410 o7 B) 310 e =€) 900 i D) none ofabove
o510

- _Whlch of the followmg best represents nonﬂammg or smoldetmg combustlon? 3'1 :
~(a) fire tetrahedron - o7 (b) combustion pentagon i
(c)firetriangle .~ 0 - (d) oxidation matrix = .

.  Which type of ignition oceurs without any external flame or spark to rgmte the fuel'? | -
(@) auto combustron (b) self ignition = (c) plloted ngnltron (D) auto 1gmtton
A partlcle is movmg wnth a constant speed along a stra:ght hne path A force is not % e
requiredto : S

(a) Increase its speed . (b) Change the dtrectton ':;_. I RS
(c) Decrease the momentum C(d) Keep 1t movmg wrth umform ve!octty S
A push orapull on an ob;ect is ca[led R L i
- ..(a) Inertia -~ (b} Force (c) Mechamcal Equ1l|brtum A (d) Equthbraum ru}e R
' _At what temperature can steel members be antrclpated to begm 10 farl‘7 '.
(@) 726°C - +(b) 800°C - (c) 900°C - (d) 1 000°C

s
e
8.

59.

The four common respiratory hazards found at the srte of ﬁre are oxygen deﬁcteney,
clevated temperatures 'smoke and:

L(a) wood dust, - (b) dirt parttcles (c) steam vapor (d) toxtc atmospheres
. ‘What gas is commoniy assocrated with mcomp!ete combustlon‘? R R
7" (a) carbon monoxide o - (b) carbon dtoxrde A
() carbon tetrachloride © = (d) ‘carbon cyamde
“Which of the fo]lowmg isa hmltatton of wearing a SCBA? .
() firesize 220 (b) physical condtt!on
(c) make of SCBA (d) amblenttemperature

Which of the following is not part of Dalton s atomic _theory‘7 b

~“(a) Atoms of the same element can be different. _
-{b) All matter is composed of indivisible atoms. .

(€) Compounds form when atoms combine in whoIe number ratlos o
(dy A chemleal reactron mvolves realrangement of atoms, :
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60.

6l.

62.
63.

64.
65.
66
6T

68

i .. .69-.

70

L.

Which of the following has the longest wavelength?

(@) Xrays (b) microwaves (¢) green light (@) UV Iight
What is the minimum aliowed drameter for rope that is tated as general use life safety
rope?

(a) S5/16inches  (b) 9/16 mehes (c) 7/ 16 inches (d) Il/ 16 mches
Which knot is prmelpalty used to atach a rope {0 an object such as the handle of a pole?

" (a) clove hitch ~(b) double hitch -~ (c) figure eight : _(d_)_safet_y_k_not

‘What is the minimum number of firefighters for a search team?

A ventilation technique that uses wmd and conveetlon cu1rents rather than fans and

blowers is known as: .
(a) normal ventllatlon . (b) fonced ventllation
(c) single ventilation R (d) natural ventlfatlon

The three methods of movang water Wlthm a system are dnect pumpmg, grav:ty systems
and - : :

(a) cotnbmation systems SR (b) weH systems

() ovelhead systems S {d) wind Systems
Cont;olimg fire by mtel ruptmg the combustlon 1eacuon is known as
- (a) flame reduction " “(b) steady state inhibition =
'(c) eombustlon mteuuptlon (d) chemlcal flame inhibition :

- A wall that is at the edge of some e roofs that may 1equ1re a ﬁreﬁghter to use a ladder to

- reach the roof is known as a : [ : -
.(a) pltch (b) cantllever (e) mansard (d) patapet o

The dlfferent between a load bearing and a nonload beaung wall is that

“.(a) A load- bearmg wall supports the we]ght of structural components, '_ B
. (b) Anon load-bearing wall supports the wetght of structural components,
S {c) A load-beaung wall always runs palalie[ to the outside walls of the building. - :
-(d) A non load- bearmg wall 1s only used in smgle famﬂy 1esxdentiai conshuetlon

g apphcattons - : G _

- The process of smothermg extmgu:sh a f'ne is

' (a) inhibition of chemical reaction - (b) removal of the fuei
© exclusion of the oxygen L (). cooling of the fuel .

_. The fheﬁghte:s not depend on fne extmgmshers found in prlvate homes because
““(a) home extinguishers are not capable of extmgmshmg afire = - '

(b) privately owned extinguishers may be inoperative

1 (e) special training is required for home extinguishers .
~A{d) home extmgulshers are not rated for c_la_ss A_ _ﬁl_es G

The fire service rope. are classxﬁed as - '_ : : : ST
- (a) life safety and utility : ~ (b) utihty and sea:ch and rescue

“(e) life safety and holstmg B (d) sealch and miscellaneous

72.

73.

_'The most eommonly added chemieal to dunkmg wale1 to k:ll bacterla and othet S
) mgamsms is e S

() magnesnum._ (b) bromme : :. :.. '(c) chloune (d) lodme ;
- The frequency to check the ﬁle suppress:on control valvesis -' L _
(a) daily - (b) mohthiy (c) weekiy : (d) annualiy
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74,
7.
76.
.
'7s.

8l

The size of the fire hose indicates a
(a) outside diameter of the hose (b) inside diameter of the hose
(c) outside dramctcr of the male thread (d) inside drameter of the female thread

Which type of water stream 1s composed of finely dtvrded partrculars that are used for ﬁre_
control

) (a) Aso rd stream ' (b) A fog stream _ (c) A strarght stream (d)A broken stream

_'The minimum temperature at whlch a llqu1d produces enough vapor to form an 1gn1table
- mixture is known as

(a) fire pomt (b) lgmtlon pomt (c) ﬂash pomt (d) vaporization temperature_

The most common product of combustlon encountered i in structure fireis .. b o
(a) carbon dloxrde (b) ethane () carbon monoxide = (d) nrtrogen S

Who has the pumary role of supervrsrng personnel in the fire department '

‘(a) Fire prevention mspector i (b)y Fire apparatus duver
(c) Frre department ofﬁcer R (1)) Frre service medrc

-"The most com_mon cause of ﬁreﬁghter fatal_ltres are - : o
" (a) strams e (b) suf‘f‘ocation SR (c) burns : (d) overexertron TS

."_A wrttten plan that rdenttﬁes and analyzes exposure to hazards is known asa
(a) hazard reduction plan . :_- “(b)_risk management plan
L g(c) hazard mrtrgatron plan i (d) ~wellness improvement plan

" The difference between a SCBA and a supplred air respirator is that -
~"(a) The SCBA requrres a supply line from another source of air .- T
~(b) The supplied air respirator is certified for use in ﬁreﬁghtmg operatrons

. (¢) The source of air for the supplred air respirator is not carried by the user

8.

8.

: (d) The air supply for the SCBA is supplred ﬁom the amblent atmosphere

- “The late at whrch veloclty is changmg wrth tune is called o :
S ) Speed S (b) Velocrty (c) Acceleratron (d) Free fall
‘In quurds or gases, the mode of heat transfer from one locatlon to another is <o
- a) Conduction (b) Convectron () Radiation (d) Newtonslaw of coolmg
- Which of the followrng is most lrkely to lose electrons in an romc compound? _
"(a) oxygen Lok hydlogen (c_) _lead__ LT (d) carbon

85 Isomers are molecules with the same

(a) kinds and number of atoms but a drfferent anangement of these atoms

“(b) number of electrans and protons but a drfferent number_ of neutrons '

o (¢} net dipole but different atoms involved in the bond

86.

B

(d) molecular formula but a dlfferent overall charge i

~Which department pr ogram educates ﬁreﬁghters on how to protect themselves from ': L
personal injury? - s fe _ R
~(a) operations program S _' (b) drrver program

(c) safety program _' (d) mamtenance program

~The stage of fie at whlch al] sur faces wrthm a room reach thelr 1gn1tton temperature and
ignite is known as .

@ flshover 1) fireover (c) ﬂameover 3'- (d) backdraﬂ

83,

A raprd and self-sustammg chemrcal process that yrelds heat and llght is known as .. ST
@) oxidation ~ (b) combustion  (c) sublimation @ entopy
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89.

90.

of.
_.alarms, house bells or

92.

93,

The two basic types of smoke detectors/alarms are
(a) pneumatic rate-of-rise and thermoelectric

(b) rate-compensated and ionization

(¢) thermoelectric and continuous line

(d) photoelectuc and ionization

Telecommumcatots should have the abllmes to Speak clear ly and _
(a) Read and understand written matetials '
(b) Create clear and understandable reports

(c) Follow written and verbal mstructlons

(d) All ofthe above SR

When alettmg ﬁreﬁghters ina f' ire statlon in an emer gency, dlspatchers may use vmce

"+ (a) Radio tones with alett R (b) Home electromc momtors B
L (c) Suens R '_ PRI (d) Whlstles or air homs '
: When speakmg on the loud speaket it is fmportant for the speaker to: -
o {a) Speak as fast as possible = '(b) Usea vely strong vocal quallty
E (c) Use a wide varlety of express1on p (d) Be conmse and to the pomt :
Whtch of the followmg contamers isan example of non bulk packagmg for hazardous
" materials - S BT R AR P
-(a) Cryogenic hqtud tankcazs S (b) Dly bulkcargo tanks :
(c) Inteunodal contamers L Coi(d) Calboys R R A

o4,
96

9,

K The four routes by whtch hazardous mateuals can enter the body ancl cause harm mclude
" inhalation, mgestlon contact and .

(a) absorption (b) mtox1catton (c) oscdlatlon N (d) permutat[on -
~ A rope is made of hemp or cotton is called 4 - ' - SE
_.;(a) rescue fiber rope _' R - {(b) uullty ﬁber rope Sl
() natural fiberrope . (d) synthetic fiber rope
" In an emergency, how would you evacuate a handlcapped person -
.-(a) Leave him there - o -(b) Take him to ades:gnated stauways RESTRNERS

(c) Let him wait for the fire department personnel (d) None of the above

~'Emergency power is required to operate all the followmg except S
.~ (a) fire and booster pumps R

(b) ‘alarm, commumcatlon and stair p:essuuzatlon systems e

s e} battery opetated emergency l:ghts :
- (d) elevators : SR

98,

_ '-:-.What colo_ur_ must ﬁre alalm statrons be pamted'? : LR ' RSN
Bee (a) Red _' B (b) Green R (c) Yellow - (d) Any colour SRR

..ln the ball drip valve drlps under norma_l condstlons, 1t lS au md:eat:on that o
iay The lower check valve is defectlve () The upper check valve is defectlve
~+(c) The ball ﬂoat valve is defecttve B (d) All of the above

100,

In an automattc sptmkler system where one sprmkter has exceeded the set llmlt of R
- temperature, how many sprinklers begin to spray water? B s (R
(ay All sprmklets onthe floor =~ - “(b) All sprmklers in the bulldmg _

: (c) Only that sprmkler whlch has exceeded rts l:mlt (cl) None of above Sl

3 ***w*w****** o
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KEY

Post: Asstt. Div. Fire Officer / FSO (29.03.2014, Morning Session)

Ans.

76
77

78

79

80

81 .
82

83 .

84
%

8
87
88 .
C89

9

91
2

03

94

95

96 -

- 97...:

.
100

Ans.

51

52

53 .
54

55
56

57

60
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64

65

66 |
67

69

&
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Ans.

26

27
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30
31

32
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i .'_35. s

36 -

37
38
-39

40

41

©43

44

45

a6 |

47
48

50

Ans.

10

11

12
13
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16

17 -
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